[ Efficiency vs vertpos |
~0.02

P.018F--+vweeiernetoeees Beeeeeens o
% E : : ]
oL ey oo
<) E : : :
BO1AF | * ------------
‘o 3 : : :
9.012F - ] SR SN :
0.01F------- ST FRPY AP g e
0.008E :
0.006
0.004F------- I B AETH Y U e
e : : :
0.002F------- Y RS e

OJ-\G- L | L | L
= 1 o
< B
o
1) SEEEEE B EEEE SRR B RIS R RS R

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT__CKF_ORIG

Efficiend —— pom_t7__ckF_moDIF

~n0.02r

9.018F - fff oo SR R .

%) - H : H H H

0.016F koo JE o FAR Y I SR

5 r N : : . .

D.014f -+t

‘© r .

.012----- eeetrl

® C . X : : :
0.02F -+ 2R oo SRR | 1
0.008F------+- 4 'k ; 3/} PO S
0.006fF--------H{1-3-1- 0 P S
0.004f------ - ]

0.002F-+-++fh-o-db b g 8L
I SR A T

Ratio

T
3
¥
:

30 -20 -10 0 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
9.025
()
0.02
0.015
0.01
0.005

1.0

Ratio

I
i

1

- 444 44 E - ) UGNy R

0521510 -5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


